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=3 20.4| — 370,870 | ¥ W5 My 43.5| 36 649
F EH 15.7] 4 44,544 | K % T 44.31 33 1,299
% F W 37.2| 47 9,230 | /N K 1| HY 37.5| 46 2, 582
m o) 14.2] 78 24,046 | 1L EHHET 56.6 8 1,534
m B oW 15.4| 176 28,936 | 3 R OHT 49.1] 20 686
fg 40.5 | 41 1,309 % & HT 52.6 | 12 2,827
AEET 23.0| 60 8,874 | F & T 62.8| 1 1,156
R ™ 14.2| 18 22,879 | R [ HT 42.01 39 1,821
B} H W 23.2| 58 7,864 | ¥ L HT 38.6| 44 1,056
B T 40.41 42 5458 | Bk [ MY 43.01 38 1, 343
OO 26.9| 54 8,903 | 3t Hy 47.8| 23 1,476
B H T 18.3| 68 5484 | BF ¢ HY 44.9| 31 1,100
= & W 20.9| 62 9,188 | AHE S EEHT 35.3| 50 3,370
B & M 32.3| 52 4,258 | JL+JLEERT 44.8| 32 2,391
J\ETETH 46.4 | 28 3,987 | Rk H My 41.6 | 40 2, 437
18 M 34,1 51 3,645 |1 & HT 36.0| 49 1,315

I BEHW 15.1] 77 8,199 | 8 & 50.2 | 17 576
i) i) 15,7 M4 15,805 (%2 R HT 43.7| 35 1,286

) 36.9| 48 RV R ) 38.1 | 45 1, 560
moE W 19.3] 64 15,728 | = (L HY 45.6 | 30 991
W T 18.2 1 69 8,058 | — = 44.3] 33 1, 409
ANFRTH 15.9| 73 7,738 | BE R HT 51.9 14 1,049
HK T H 18.8| 65 185 (& & # 46.8 | 27 1,376
e JIl ™ 43.11 37 4,287 | F HT 48.4 | 22 1,520
$gram 16.3] 72 L0 E W OB 49.0 21 1,042
8 B h 25.2] 56 6,879 | & FF HT 58.2| 4 1,644
- ] 39.1] 43 5910 | K% & H 51.4] 15 1,864
WK T 8.9 80 3,907 | R BRI 58.1| 5 1,217
PO 738 T 18.4¢ 67 3,967 |0 7B MY 4.5 24 1,173
o™ 411 57 3,617 K & T 47.4 | 25 2,921
N f 25.7| 55 3,638 | g i3] 49.2| 19 1,933
B 1§ HT 23.1] 59 1,836 | & i HT 54.5| 10 973
wom 18.1| 10 2,064 [ & 1 HY 55.0] ¢ 1,077
B A& T 20.5| 63 1,182 | 88 m MT 50.6 | 16 1,805
E B 18.8| 65 2,30 = F # 6.2 3 122
H M 52.0 13 975 | 1 #= MY 49.5] 18 1,130
== 16,7 1 LETT|+ & 53.0| 11 2,254
Bl 7§ o7 22.6 | 61 2,591 | #L lJJ Hr 6.5 2 1,013
P I S 56.9| 6 577 | Fit r 56.9| 6 1,054
% M7 27.8| 53 1, 640 95¢/J\(£3HH 46.1| 29 1, 269
T # 6 A7.31 26 904
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